We will review these in week 14 of the course.
1.
Suppose the American Bar Association is interested in whether attorneys going into firms specializing in intellectual property have a different starting salary than attorneys going into firms that specialize in criminal law.  They compile the following information from a sample of first-year law students.  Test at the .05 level that earnings differ.

	
	Mean earnings
(in thousands of dollars)
	Standard deviation
	Sample size

	Intellectual property
	85
	14.115
	200

	Criminal
	75
	17.020
	200


2.
A random sample of 40 union members shows an average age of 43 with a standard deviation of 8.  Construct a 90% confidence interval and a 95% confidence interval for the population mean age.  

3.  
The following is data from a sample of 4 workers who were asked to evaluate 3 
different types of retirement plans on a scale of 1 through 25.  Did they rate the plans differently?
	Plan 1
	Plan 2
	Plan 3

	23
	12
	24

	15
	14
	22

	18
	11
	19

	22
	19
	21


4.
A health insurance company claims in their materials that 90% of enrollees report being extremely satisfied on a linear, numeric scale of 1 to 5.  To verify whether this is true among your employees, you sample 100 of them and ask them to rate the insurance company on a scale of 1 to 5.  You find that 93 report being extremely satisfied.  Can you conclude that at least 90% of your employees are satisfied at the .05 level?

Conduct a test of whether those who trained are better workers at the .05 level.

5. 
Suppose one has data from an employee satisfaction survey summarized in the following cross-tabulation across occupation groups:

	
	Number Satisfied
	Number Not Satisfied

	Technical support
	2
	10

	Sales staff
	6
	9

	Office staff
	14
	11


Determine (at the .05 level) whether occupation group and job satisfaction are not independent.

6.
A national study of teachers finds that the average number of days missed each school year is 9.   For a sample of 100 Wisconsin teachers, the average number of days off is 10.5, with a standard error of 0.8.  Are Wisconsin teachers taking more days off than the national average?

7. 
You are trying to determine whether your corporation’s training program improves performance.  You survey employees and ask whether they went through the complete training program.  You also have information on whether their recent performance evaluations were “above average.”  You compile the following table:

	
	Proportion with “above average” ratings
	Number of employees

	Completed training
	.60
	30

	Did not complete training
	.42
	40


8.
Suppose that someone looks at the effect of tenure on performance evaluations, which are measured on a scale of 1 to 30.  The following estimate for
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is obtained (with its standard error in parentheses) from a regression on 45 workers:


0.75


(0.32)


Construct a 95% confidence interval for the population parameter (.


9.
Interpret regression results for both simple and multiple regressions

Example 1: Interpret what the estimate in question 9 means.

Example 2: Suppose that someone adds a dummy variable for usual hours worked per week and a dummy variables for employee group (three categories—1. manufacturing 2. administrative support 3. sales)  

	
	Tenure
	Hours
	EG # 1
	EG # 2

	Coefficient estimate
	0.68
	0.13
	5.8
	3.2

	Standard error
	0.35
	0.18
	2.2
	2.8


Interpret coefficient estimates; which variables are significant?

10.
Suppose that the intercept in the regression in example 2 above is 8.  Predict the performance evaluation for a sales worker with 10 years of tenure and works 40 hours a week. 
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